
ljlgdo b/sf] lgwf{/0fsf ;DjGwdf g]kfn /fi6« a}+ssf] cToGt h?/L ;"rgf 

 

cGt/f{li6«o ljlgdo ahf/df ljb]zL d'b|fsf] ljlgdob/df cfPsf] ef/L ptf/r9fasf] 

sf/0f o; a}s4f/f cfh ldlt @)&).%.!# sf nflu o; cl3 k|sfzg ePsf] ljleGg 

ljb]zL d'b|fx?sf] ljlgdo b/df ;+zf]wg u/L b]xfo adf]lhd gofF ljlgdo b/ sfod 

ul/Psf] Joxf]/f ;DjlGwt ;a}sf] hfgsf/Lsf] nflu of] ;"rgf k|sflzt ul/Psf] 5 . 
  

d'b|f PsfO   vl/b b/   ljqmL b/ 

ef/tLo ?k}oFf 100 sf] ?= 160.00 ?= 160.15 
 

v'nf ahf/ ljlgdo b/ -g]kfn /fi6« a}+ssf] k|of]hgsf] nflu_ 

d'b|f PsfO   vl/b b/   laqmL b/ 

cd]l/sL 8n/ 1 sf] ?= 108.30 ?= 108.90 

o'/f] 1 sf] ?= 144.85   145.65 

kfp08 :6ln{Ë 1 sf] ?= 167.85 ?= 168.78 

l:j; k}|mGs 1 sf] ?= 117.93 ?= 118.58 

ci6«]lnog 8n/ 1 sf] ?= 96.77 ?= 97.30 

Sofgfl8og 8n/ 1 sf] ?= 103.13 ?= 103.70 

l;+ufk'/ 8n/ 1 sf] ?= 84.55 ?= 85.02 

hfkfgL o]g 10 sf] ?= 11.11 ?= 11.18 

lrlgoFFf o'cfg 1 sf] ?= 17.70 ?= 17.79 

;fpbL c/a l/ofn 1 sf] ?= 28.88 ?= 29.04 

stf/L l/ofn 1 sf] ?= 29.74 ?= 29.90 

yfO{ ef6 1 sf] ?= 3.36 ?= 3.38 

;+o'Qm c/a Old/]6 lb/fd 1 sf] ?= 29.49 ?= 29.65 

dn]lzog l/+lu6 1 sf] ?= 32.48 ?= 32.66 

blIf0f sf]l/og jg 100 sf] ?= 9.71 ?= 9.76 
 

vl/b b/ dfq 

l:jl8; qmf]g/ 1 sf] ?= 16.69     

8]lg; qmf]g/ 1 sf] ?= 19.42     

xËsË 8n/ 1 sf] ?= 13.96     

 

ldltM @)&) efb| !#                               ljb]zL ljlgdo Joj:yfkg ljefu  

laxfg * ah]  

 


